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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount Adda 247

Q. When a bus starts suddenly, then passengers in the bus tend to fall backwards.
This event is an example of ...............

(a) Inertia of rest

(b) Inertia of motion

(c) Inertia of direction

(d) None of these
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Babita Kumari 16 hoursago
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Deepmani Bhardwaj 1 second ago

Absolutely correct Babita

05 CA  Reply

sachin Biradar 1h
Ans A (Inertidf rest)
The inertla of rest was proposed by Newton in his first law of motion
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Deepmani Bhardwaj 1 second ago

Absolutely correct Sachin but inertia of rest was proposed by Galileo.
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Absolutely correct Muruganath
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Q. When a bus starts suddenly, then passengers in the bus tend to fall backwards.
This event is an examplé of ...............

(a) Inertia of rest

(b) Inertia of motion

(c) Inertia of direction

(d) None of these
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Q. What is a white dwarf star?

(a) Its mass and volume is comparable to that of the Earth
(b) Itis a cloud of gas and dust in outer space

(c) Itis a hypothetical star that is created from a red dwarf star that has exhausted most

of its hydrogen fuel supply
(d\))v//is/formed when a low-mass star has exhausted all its central nuclear fuel and lost
ts outer layers as a planetary nebul\ay
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Q. What is a white dwarf star?
(a) Its mass and volume is comparable to that of the Earth
(b) Itis a cloud of gas and dust in outer space

(c) Itis a hypothetical star that is created from a red dwarf star that has exhausted most
of its hydrogen fuel supply

(d) Itis formed when a low-mass star has exhausted all its central nuclear fuel and lost
its outer layers as a planetary nebula
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Q. Which force keeps a satellite from falling on the earth?
(a) Gravitational force of the Sun
(b) tension

. 0
(c) Centripetal fYQ/Ké B 5)
(d) Centrifugal force ’ .

T. &l AT a0 3998 F g2l W IR @ A 872

(T) §F F1 TEcaryor AfFd

(& gt FT1 TEcarRYor BT

(HY) FETERE T Cemixe
(3) FegIARE ol



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which force keeps a satellite from falling on the earth?
(a) Gravitational force of the Sun

(b) tension

(c) Centripetal force

(d) Centrifugal force

T. &l AT a0 3998 F g2l W IR @ A 872
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Q. Which of the following is correct?
(a)) For geostatienary—erbit a satellite is launched from a place with higher

latitude @o ./QQ 75)
(b) For pelﬁﬁrht )a satellite is launched from somewhere close to the equator -

(c) Both (a}and () '~ ob: )
(d) W (a) nor (b)

q.fFT 7 O Sl a1 9 872
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Q. Which of the following is correct?

(a) For (polar) orbit a satellite is launched from a place with higher latitude

(b) For (equatorial orbit) a satellite is launched from somewhere close to the
equator

(c) Both (a) and (b)

(d) Neither (a) nor (b)
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Q. Which of the following isigci a vector quantity?
(a) Torque
(b) Displacement Ve +ox

(C)‘Sﬂd i, ' 8 - OJLQ\\S

(d) None of these
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Q. Which of the following is not a vector quantity?
(a) Torque

(b) Displacement

(c) Speed

(d) None of these
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Q. Vg iiis difficult to walk ohatng on a concrete floor?
(a) T8 i

is soft when compared to concre
(b) There is more friction between the sand and feet 70

(c) Both (a) and
(d) None oi\th///(:)}
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Q. Why it is difficult to walk on sand than on a concrete floor?
(a) Ice is soft when compared to concrete

(b) There is more friction between the sand and feet

(c) Both (a) and (b)

(d) None of these
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Q. What is the unit of refractive index?
(a) Metre
(b)Degree

(c) None ://

(d) None of these
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Q. What is the unit of refractive index?
(a) Metre

(b) Degree

(c) None

(d) None of these
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Q. Momentum of an object depends on which factors?

I. Mass of the ob]eg/ ] % \@ @
I[I. Speed of the object/ -
I11. f the object /

(b) I and II only /

(a) I only
(c) I and III only (d) II and III only

v. Bl g &1 FAT fFeT FRA 9T AR Far #2
. aFq FT GIATT
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Q. Momentum of an object depends on which factors?
I. Mass of the object

II. Speed of the object

I11. Volume of the object

(a) I only (b) I and II only

(c) I and III only (d) II and III only
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. aFq FT GIATT
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Q. What does the philatelist do?
(a) Collects the coins

(b) Collectss%{ps
(c) Collects the pictures of birds
(d) Collects the feathers
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Q. What does the philatelist do?
(a) Collects the coins

(b) Collects stamps

(c) Collects the pictures of birds
(d) Collects the feathers
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Q. Potatois a:

(aRoot)

(b) Fruit

(C)@\\/ % PN
(d) Bulb fece
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Q. Potatois a:
(a) Root

(b) Fruit

(c) Tuber

(d) Bulb
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A ]

Q. Deserts plants have longer root system because:

(a) High /emperature of the soil stimulates the growth of roots)ﬁ

(b) Rogts grow in search of water

(c) Soil does not contain water, hence becomes compact and preéses/ale roots to
grow longer ?0

(d) Roots moves opposite to the solar heat >0

e

q. ATEYT gleYy Y I8 yormell o« gt § Faife:
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Q. Deserts plants have longer root system because:

(a) High temperature of the soil stimulates the growth of roots

(b) Roots grow in search of water

(c) Soil does not contain water, hence becomes compact and presses the roots to
grow longer

(d) Roots moves opposite to the solar heat

q. ATEYT gleYy Y I8 yormell o« gt § Faife:

(v) AeE &1 3= a9AET 81 & RFEE F 30T Far &
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Q..Genome ynapping relates to:

(a) Blood groupi
(b) Mappigg{%fes
(c) Mapping of nerve centers

(d) Mapping of brain
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Q. Genome mapping relates to:
(a) Blood grouping

(b) Mapping of genes

(c) Mapping of nerve centers
(d) Mapping of brain
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Q. Read the following statements in connection with red blood corpuscles and
with the help, the code given below find out the correct answer?
1. They have iron o
2. They provide red colour to the blood

3. They provide immunity against certain diseases

4. They are the carrier of oxygen in the blood

Code:

(a)1,2and 3

(b) 2,3 and 4

(c)1,2and 4

(d)1,2,3and 4
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Q. Read the following statements in connection with red blood corpuscles and
with the help, the code given below find out the correct answer?
1. They have iron

2. They provide red colour to the blood

3. They provide immunity against certain diseases

4. They are the carrier of oxygen in the blood

Code:

(a)1,2and 3

(b) 2,3 and 4

(c)1,2and 4

(d)1,2,3and 4
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Q. The major chemical compound found in human Kidney stones is:
(a) Urea \
(b) Calcium carbonate

(c\))%(ium oxalate \ {
(d)Calcium sulphate Cj?\) 0 o0k
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Q. The major chemical compound found in human Kidney stones is:
(a) Urea

(b) Calcium carbonate

(c) Calcium oxalate

(d) Calcium sulphate
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Q. Photosynthesis occurs in -
(a) Nucleus
(b) Mitochondria

(c) Chloroplg\;/_ﬁ C 9\0
X o )’J\r\ C&y

(d) Peroxisome
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(V) «Iifdw
33T

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Photosynthesis occurs in -
(a) Nucleus
(b) Mitochondria

(c) Chloroplast ~~——s,
(d) Peroxisome
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(a)(Thiamine)- Beri-beri

(b) Vitamin D @
) Yhiamin - ST — S ™ Bllood
(

Niacin - Pellagra
5 C/Qo‘)“—‘”‘a

r Wl gARE g #7

Q. Which among the followin@airs is not correctly matched?
i,
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Q. Which among the following pairs is not correctly matched?
(a) Thiamine - Beri-beri

(b) Vitamin D - Rickets

(c) Vitamin K - Sterility

(d) Niacin - Pellagra

v. fAefaf@a & & i a1 37 @@ gAfQa @t 87
() aafae - Sf-a8

(@) Reafas &t - Reew

() Rafas & - =REH

(3 AT - 9
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Q. Whieh-of the following converts milk wii :
(@ Bacteria > —
(b) Vitamin L\O C+o L-) ac i QQ USS

(c) Enzyme
(d) None of the above

g. farafaf@a & @ Fia g # g@r & aRafda Fwar 82
(T) SFAR=T
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Q. Which of the following converts milk with curd?
(a) Bacteria

(b) Vitamin

(c) Enzyme

(d) None of the above

g. farafaf@a & @ Fia g # g@r & aRafda Fwar 82
(T) SFAR=T

COBERILE

GORE RS

(F) 3FT 7 F FS T
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Q. Match List-I with List-II and select the correct answer from the code given
below the lists:

List-1 List-I1
(Hormones) (Secreting Gland)
A. Progesterone 1. Thyroid oS
B. steron \; Pancreas — > ol (2 ﬁ’)_“qW X0, )
C. Thyroxine @) . Ovaries (Females) |
D. Insulin . 4. Testes (Males) %
Code:

N @ LS
@3 @ Q) @
(b) 4 3 1 2
(c) 3 4 2 1
(d 1 2 3 4
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Q. Match List-I with List-II and select the correct answer from the code given
below the lists:

List-1 List-11
(Hormones) (Secreting Gland)
A. Progesterone 1. Thyroid
B. Testosterone 2. Pancreas
C. Thyroxine 3. Ovaries (Females)
D. Insulin 4. Testes (Males)
Code:

A B C D
(a) 3 4 1 2
(b) 4 3 1 2
(c) 3 4 2 1
(d) 1 2 3 4
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Q. Match the following and select the correct answer from the codes given
below -
A

1. Vitamin B deficiency
2. @deficiency

C. Night-blindne: @ lodine deficiency
D. Beri-beri 55\4. Vitami@eﬁdency

Cod@: RGA-('Y\OQ_,

A B C D DT

(a) (2 % 6 4 @ - JNigoid
(b) (2 4 <:§,// - e )

@1 2 3 4 TT\(&\Q\MQ
@2 4 3 1
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Q. Match the following and select the correct answer from the codes given
below -

A. Anaemia 1. Vitamin B deficiency

B. Goiter 2. Iron deficiency

C. Night-blindness 3. lodine deficiency

D. Beri-beri 4. Vitamin A deficiency

Code:

(a)
(b)
(c)
(d)

N = NN B>
=N W =
W W Wwn
—_ R =
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Q. Match List-I with List-II and select the correct answer from the code given
below the lists:

List-1 List-11
(Disease) (Causes)
A. Khaira . Vitamin C deficiency
B. Anaemi 2. lodine deficiency

3. Iron deficiency

. . 4. Zinc deficiency = . /
Code:
A2 Y(2)A |

A B C D
(@A) 1 2 3 4
(b) 2 1 4 3
(c) 3 1 2
(d) 4 @ 2 1
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q. -1 F g1 § gafaa fifae i gRET F A9 R v FT @ @@ 3w

=11 =11
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T. @ 1. Rafas &t fr
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Y. M 3. A T FHAL
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Adda

e

Q. Match List-I with List-II and select the correct answer from the code given

below the lists:

List-1

(Disease)
A. Khaira
B. Anaemia
C. Goitre
D. Scurvy
Code:

(a)
(b)
(c)
(d)

BWN RS

W s =N

N =W O

=N W A

Rty =

List-II
(Causes)
Vitamin C deficiency
Iodine deficiency
Iron deficiency

. Zinc deficiency
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Karnal Bunt is a disease of:
(a) Barley crop
(b) Wheat crop

(c) Bajra crop /\q _\_
7 Z o\

(d) Jowar crop

9. HIATT &¢ AT ¢ - ﬂ ‘\/\
(@) it Y B

() ﬂg S A

GUEIGRE IR TG
(3)) AR HT HEA
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